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Preparafion for Tomorrow’s Quiz
Answer the following based on the graph below:

2 ‘ Y a) State the intervals where the function is
257 increasing and decreosin?.
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concave up and concave down.
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Determine whether the statements are true or false and provide a reason for ygur<<§cn§v%r: ~2L X0

%x>2

a) The first derivative is zero when x=-3.95

Trues The tongtit \ine is nonzonta\ @efo S\ope)
b) The second derivative is zero when x=-3.5

O ~ ,
Talse, The groph is CONe QoL SO £(x) s Negative
c) There are three points of inflection on the interval -5<x<3 af ==

True, the grazp\/\ CV\QY\SQS nfechion 3 times
d) The first derivative is positive when x=2 ‘\’\\
Faise, e S\epe 1S nQaTNe
e) The second derivative is negative when x=-1 '\k{) as ' \
— r -~ - SG
False, fne geagh 1S conave o '
f) There are two relative minimumgfrom -5<x<3 W 10[ CX) S 1003779&
True, Hnere are Jwo ponts WNLre rapn ?47:! “rom
g) A graph of the first derivative will have 4 x-intercepts. dl@rQ@s /19 7£O nC/?.oQS)ﬂ?

True, ¥nere ofe four points wynere %eﬂ%@h of £&) has

h) The slope of the tangent line is increasing at x=-3 O oo Nt “"\e_
False, fne groph is concate down So e S1op 1S
i) This function has an absolute maximum AL e fasi \Qﬂ‘

Mse, as X500, €CH>3D

For the functions f(x) shown below:
a) State any relative extrema (min or max)
b) State the intervals where the function is increasing and decreasing.



c) State any points of inflection.
d) Determine the intervals where the function is concave up and concave down.
e) Use the information from parts a) — d) to create an accurate sketch of the function:

Level 2: (Try this one if you wan to build up to a level 3): f(x) = x? — 12x + 27
£ = X% 17x+22 L) =2%~12 L0 =2

H2=0 H\\ugys posi fhve

So always ConCave
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Level 3: g(x) = =5x* — 7x3 + 6x2

Level 3: h(x) = §x3 +x?% + 3x

Level 4: p(x) = ?1_1

Level 4: m(x) = x — 4Vx
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